Divisibility 100 (HKMO Classified Questions by topics)
1989 HG6

F 724 5 100 IREELS X

Find the remainder when 72%47 is divided by 100 .

2001 FI13.2

52000 iR = e & L e F enfed_Q 0 R Q i o

The sum of tens and units digits of 52°°! is 0. Find the value of Q.
2002 HG4

F 72003 2100 ¢4 #c o Find the remainder of 7293 = 100 .

2004 FG2.1

z 5 pa Py Al 2 2.
25 tht i q_ g Fadid o

If the tens digit of 5% is a, find the value of a .

2012 FG1.1

F 2011201 e+ 1= 3 » Calculate the tens digit of 20112011,

2016 FG4.2

Fn iEHK > BEE 0sNEuE 7 FuaiE o

If n is an integer, and the units and tens digits of n* are u and 7, respectively,
determine the value of u .

2021 P1Q2

F 22020 eng kA = #cF - Find the last two digits of 22021,

2023 HG1

R 3202 g kA = #ikcF e Find the last two digits of 3202

C:\Users\85290\Dropbox\Data\My Web\Competitions\HKMO\Classified Questions\Number_theory\Divisible or remainder\100.docx

Created by Mr. Francis Hung

Page 1



Divisibility 100 (HKMO Classified Questions by topics)

Answers
1989 HG6 2001 FI3.2 2002 HG4 2004 FG2.1 2012 FG1.1
43 7 43 2 1
2016 FG4.2 2021 P1Q2 2023 HG1
6 52 27
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